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Homogeneous Embankment Dam

Parameter Value
|74 1000 ft/s
U 0.30
Ve 120 Ib/ft3
90 ft Veat 125 Ibyft3
k. 4.5x108 ft/s

1.6x10-8 ft/s

60 ft

140 ft



Model and Zone Commands | 2 SeepageAnalysis.dat

model restore 'l StaticAnalysis.sav'
zone fluid cmodel anisotropic range group 'Embankment'’

zone fluid property permeability-xx 7.21E-10 permeability-yy 2.56E-10 range group
zone water density 1.94 range group 'Embankment'

Embankment

A\bm”“ . pw = 1.94 slugs/ft?
' o A kex = 7.21%1071° ft/(1b/(ft2-s))
red kyy = 2.56%10° ft/(Ib/(ft2-s))
3744 Ib/ft ® s =1

"Embankment'’

S=0
0 Ib/ft?

Base 2



Model and Zone Commands | 2 SeepageAnalysis.dat

zone face apply pore-pressure (0.0 range group 'Base 2

zone face apply pore-pressure 3744 gradient (0,-62.4) range group
zone gridpoint i1nitialize saturation 1.0 range group 'Embankment’
zone gridpoint initialize saturation 0.0 range group 'Base 2'

Embankment

2A\blﬂz|ﬂ . C pw = 1.94 slugs/ft®
62 ~ A koo = 7.21%107° ft/(1b/(ft2-s))
ea™

kyy = 2.56%101° ft/(Ib/(ft2-s))
3744 Ib/fe ‘ s =1

'Upstream 1'

S

0
0 Ib/ft?

Base 2



Model and Zone Commands | 2 SeepageAnalysis.dat

zone gridpoint initialize fluid-modulus 100 range group 'Embankment'
zone gridpoint initialize fluid-tension 0.0 range group 'Embankment’

Embankment

2A\blﬂz|ﬂ . C pw = 1.94 slugs/ft®
62 ~ A koo = 7.21%107° ft/(1b/(ft2-s))
ea™

kyy = 2.56%101° ft/(Ib/(ft2-s))
3744 Ib/fe ‘ s =1

S=0
0 Ib/ft?

Base 2



Model and Zone Commands | 2 SeepageAnalysis.dat

model mech active off

model fluid active on

model solve ratio-flow 1.0e-3
model save '2 SeepageAnalysis.sav'

Embankment

A\bm”“ o pw = 1.94 slugs/ft®
,6?" o
~ o ke = 7.21%107° ft/(1b/(ft2-s))
ed kyy = 2.56%x10-10° ft/(lb/(ftz's))

3744 Ib/fe ‘ s =1 S=0
0 Ib/ft:

Base 2
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Model and Zone Commands | 3 FlowCalculations.dat

model restore '2 SeepageAnalysis.sav'

fish define findflow
local gps = gp.list(gp.isgroup(::gp.list, 'Base 2'"))
global flow value = list.sum(gp.flow(::gps))

end

[findflow]

model save '3 FlowCalculatlon.sav'
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